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BE-FAMRX XEER

RTES | REEROAT |1EEm|EE RTES | REEROAT |1EEm|EE
15 XEaE 1= 8.0 675 XEES 67 = 6.0
2810 |[XEhER 25 8.0 B K& LA 54.0m 675 XENEES 67 = 6.0
2202 |RELRER 2= 8.0 685 XENEES 68 = 6.0
35 XEEES 3= 6.5 695 XENEES 69 = 6.0
45 XEEES 42 6.5 702 XENEES 70 = 6.0EKEEH LA 53.0m
55 XEEES 5= 6.5 = XEEEs 71 = 6.0 EKEEH LA 53.0m
65 XEEES 6= 6.5 128 XEEEs 72 = 6.0 EBHDAH53.0m
1= XBER 1= 6.5 (BB F DA 53.25m 7381 |[XEHEE 73 & 6.0
881 |XEHEE 8 & 6.5 73802 |[REHER 713 & 6.0 EKEEH LA 53.0m
85(2) X B 18 i 8 5 6.5 8K FI0H 53.25m 145 XBER 14 & 6.0 ;8K Il A 53.0m
95 XEEES 9= 6.5 758 XENEES 75 = 6.0
108 XENEES 10 = 6.5 762 XENEES 76 = 6.0
= XEEEs 1= 6.5 772 XEEs 71 = 6.0
128 XENEES 12 = 6.5 788 XEEEs 78 = 6.0
135 XELEER 13 = 6.5 8K FI0H 53.25m 195 XBER 19 & 6.0
142 XENEES 14 = 6.5 808 (1) |XEHE 80 & 6.0
158 XBER 15 & 6.5 B K0 A 53.25m 805(2) |XEHEI 80 & 6.0 B0 H 53.0m
165(1) |XENEES 16 = 6.5 818 XENEES 81 = 6.0
6802 |XEERE 16 & 6.5 8K FI0H 53.25m 825 XBER 82 & 6.0
781 |XEER 171 & 6.5 8K FI0H 53.25m 835 XBEER 83 & 6.0 8 &G H 53.0m
7502 |[KEERE 1712 6.5 845 XENEES 84 = 6.0
189 XBER 18 & 6.5 ER LA 53.25m 855 XBER 85 & 6.0
198 XENEES 19 = 6.5 865 (1) |XEHEIX 86 & 6.0EKEEH LA 53.0m
205(1) |XEHEE 20 & 6.5 865 (2) |XEhHEIR 86 & 6.0
20802 |[KEER 20 = 6.5 (BB F DA 53.25m 865(3) |XELEES 86 = 6.0
218 XENEES 21 = 6.5 878 XENEEs 87 = 6.0
228 XENEES 22 = 6.5 888 XENEES 88 = 6.0
238 XENEES 23 = 6.5 898 XENEES 89 = 6.0
245 XENEES 24 = 6.5 908 XENEES 90 = 6.0
258 XENEES 25 = 6.5 915 XENEES 91 = 6.0
265 XENEES 26 = 6.5 928 XENEEs 92 = 6.0
272(1)  |XBhEgg 2] B 6.5 8K FIDH 53.25m 935 XBEER 93 & 6.0
27502 |[REHER 27 & 6.5 945 XENEES 94 = 6.0
285(1) |XEHEE 28 & 6.5 958 XENEES 95 = 6.0
28E(2) |XBEEg 28 & 6.5 8K FI0H 53.25m 965 XBEER 96 & 6.0
288(3) |XEHER 28 & 6.5 F DA 53.25m 978 XENEEs 97 = 6.0
298 XENEES 29 = 6.5 988 XENEES 98 = 6.0
308 XENEES 30 = 6.5 998 XENEES 99 = 6.0
3= |XEHEE 31 & 6.5 B KB A 53.25m 1008 XENEES 100 = 6.0
3182 |XEHEE 31 & 6.5 1018 XENEES 101 = 6.0
328 XENEES 32 = 6.5 1028 XENEEs 102 = 6.0
338 XENEES 33 = 6.5 1038 XENEES 103 = 6.0
345 XENEES 34 = 6.5 1048 XENEES 104 = 6.0
358 XENEES 35 = 6.0 1058 XENEES 105 = 6.0
365 XENEES 36 = 6.0 1065 XENEES 106 = 6.0
378 XENEEs 37 = 6.0 1078 XENEEs 107 = 6.0
38E(1) |XEHEE 38 & 6.0 1088 XENEES 108 = 6.0
3882 |XEHEE 38 & 6.0 1098 XENEES 109 = 6.0
398 XENEES 39 = 6.0 1108(1) |XEhEEs 110 = 6.0
408 XENEES 40 = 6.0 11082 |KEhEEs 110 = 6.0EKEEH LA 53.0m
415 XENEES 41 = 6.0 115 XENEES 111 = 6.0EKEEH LA 53.0m
428 XENEES 42 = 6.0 1128 XENEES 112 = 6.0
438 XENEES 43 = 6.0 1138 XENEES 113 = 6.0
445 XENEES 44 = 6.0 1148 XENEES 114 = 6.0
455 |XBENEERR 45 = 6.0 1158 XENEES 115 = 6.0
45502 |XENERE 45 = 6.0[ @iy HVi53.0m 1165  |XEHEES 116 & 6.0
4553 |XEHERE 45 = 6.0|3& 7K B Bl A 53.0m 1178 |[RERER 117 5 6.0
465 XENEES 46 = 6.0|3& 7K B il A 53.0m 1188  |XELERS 118 & 6.0
475 XENEES 471 = 6.0 1198 XENEES 119 = 6.0
488 XENEES 48 = 6.0 1208 XENEES 120 = 6.0
498 XENEES 49 = 6.0 1218 XENEES 121 = 6.0
508 XENEES 50 = 6.0 1228 XENEES 122 = 6.0
515(1) |[RELER 51 = 6.0|3& 7K B il A 53.0m 1238  |XELER 123 & 6.0
519(2) |XEHEE 51 & 6.0 1248 XENEES 124 = 6.0
528 XENEES 52 = 6.0 1255 XENEES 125 = 6.0
535 XENEEE 53 = 6.0 12651 [XBNEER 126 = 6.0|3& 7K B il A 53.0m
545 XENEES 54 = 6.0 12682 |XENEES 126 = 6.0
555 (1) |XEHE 55 & 6.0 126803 |XENEES 126 = 6.0[ &Rl HV 53.0m
555(2) |XELER 55 = 6.0[ &Rl HV 53.0m 1278 |RELRERR 127 & 4.0
565 (1) |XEHEIR 56 & 6.0 1288 XENEES 128 = 4.0
565(2) |XELEE 56 = 6.0|3& 7K B il A 53.0m 1208 |RELERR 1290 & 4.0
578 XENEES 57 = 6.0 1308 |XELER 130 & 4.0
585(1) |XELEE 58 = 6.0[ &Rl HV 53.0m 1318 |XEHER 131 & 4.0
585 (2) |XEHEIE 58 & 6.0 1328 XENEES 132 = 4.0
505(1) |XEHEE 59 & 6.0 1338 XENEES 133 = 4.0
5952 |RELEE 59 = 6.0|3& 7K B il A 53.0m 1348  |XELERS 134 & 4.0
605 XENEES 60 = 6.0 1358  |XELEES 135 & 4.0
615 XENEES 61 = 6.0 1368  |XEHEES 136 & 4.0
625 XENEES 62 = 6.0 1378 |XELER 137 & 4.0
635 XENEES 63 = 6.0 1388  |XELEES 138 & 4.0
645 XENEES 64 = 6.0 1398  |XELEES 139 & 4.0
655 XENEES 65 = 6.0 1408  |XELEES 140 & 4.0
665 XENEES 66 = 6.0 1418 |XEHER 141 = 4.0




